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the neutral ones.  The relative probability is a function of Nes and h (the dominance

coefficient).  The observed Ks/Ki (0.791) and the 95% confidence interval are

represented by the 3 horizontal lines.  To explain the observed Ks/Ki, |2Nes| should fall

between –0.6 and –0.4 over all h values < 0.5.  

rossm
A



neutral ones.  The relative probability is a function of Nes, h and the effective

male:female ratio, m.   The observed Ks/Ki (0.706) and the 95% confidence interval are

represented by the 3 horizontal lines.  To explain the observed Ks/Ki, |2Nes| should fall

between –1.0 and –0.3 over a wide range of h and m values. 
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